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2020

BOTANY (General)
Paper Code : BOTG - II - A & B

[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.
Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT’ answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.
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Paper Code : BOTG - II - A
Full Marks : 16 Time : Thirty Minutes

Choose the correct answer.

Each question carries 1 mark.

1. Peristome teeth are found in —

(A) Marchantia

(B) Riccia

(C) Anthoceros

(D) Funaria

1Ð Peristome teeth ö”…y ëyëû éôôôé

(A) Marchantia

(B) Riccia

(C) Anthoceros

(D) Funaria

2. Columella is a part of —

(A) capsule

(B) seta

(C) foot

(D) rhizoids

2Ð Columella „þyîû x‚ŸÚ

(A) „þÄyþ™¢%œ

(B) ö¢Ýþy

(C) š%þÝþ

(D) îûy£z‹öìëûvþ
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3. Elaters of Marchantia are —
(A) haploid
(B) diploid
(C) triploid
(D) polyploid

3Ð Marchantia-~îû £zöìœÝþyîû £œ éôôôé

(A) £Äy²Õöìëûvþ

(B) !vþ²Õöìëûvþ

(C) !ÝþÆ²Õöìëûvþ

(D) þ™!œ²Õöìëûvþ

4. Anthoceros is commonly known as —
(A) stoneworts
(B) liverworts
(C) hornworts
(D) bladderworts

4Ð Anthoceros ¢y•yîû’“þ þ™!îû!‰þ“þ ˜yöì›Ð

(A) öÞÝþy˜çëûyÝÅþ¢

(B) !œ¦þyîûçëûyÝÅþ¢

(C) £’ÅçëûyÝÅþ¢

(D) îÏyvþyîûçëûyÝÅþ¢

5. Ligule is found in —
(A) Selaginella
(B) Marsilea
(C) Equisetum
(D) Pogonatum
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5Ð Ligule þ™yçëûy ëyëû éôôôé

(A) Selaginella

(B) Marsilea

(C) Equisetum

(D) Pogonatum

6. Pteridophytes and Bryophytes differ in having —

(A) Spermatozoids

(B) Archegonia

(C) Separate gametophytes

(D) Vascular system

6Ð Pteridophytes ~î‚ Bryophyteséôé~îû ›öì•Ä þ™yíÅ„þÄ £œ éôôôé

(A) Spermatozoids

(B) Archegonia

(C) þ™,í„þ !œD•îû

(D) ¢‚î£˜“þsþf

7. Indusium is found in —

(A) Selaginella

(B) Lycopodium

(C) Dryopteris

(D) None of the above

7Ð Indusium þ™yçëûy ëyëû éôôôé

(A) Selaginella

(B) Lycopodium

(C) Dryopteris

(D) ö„þyöì̃ y!Ýþ ˜ëû
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8. Club moss is —

(A) Selaginella

(B) Lycopodium

(C) Funaria

(D) Dryopteris

8Ð Club moss £œ éôôôé

(A) Selaginella

(B) Lycopodium

(C) Funaria

(D) Dryopteris

9. Polyembryony can be found in —

(A) Cycas

(B) Pinus

(C) Gnetum

(D) All of them

9Ð Polyembryony þ™yçëûy ëyëû éôôôé

(A) Cycas

(B) Pinus

(C) Gnetum

(D) vþzþ™öìîûîû ¢î=öìœy

10. Coralloid roots are found in —

(A) Cycas

(B) Pinus

(C) Gingko

(D) Gnetum
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10Ð Coralloid ›)œ þ™yçëûy ëyëû éôôôé

(A) Cycas

(B) Pinus

(C) Gingko

(D) Gnetum

11. Female gametophytic body of Gnetum is —

(A) monosporic

(B) bisporic

(C) tetrasporic

(D) none of above

11Ð Gnetuméôé~îû ßþf#!œD•îû vþz!q” ö”£!Ýþ éôôôé

(A) ›öì̃ yöìßþ™y!îû„þ

(B) îy£zöìßþ™y!îû„þ

(C) öÝþÝþÆyöìßþ™y!îû„þ

(D) ö„þyöì̃ y!Ýþ ˜ëû

12. Which gymnosperm is called the living fossil?

(A) Cycas

(B) Pinus

(C) Gnetum

(D) None of the above

12Ð ö„þy ä̃ Gymnosperm ‹#îhsþ ‹#îyÙÂÚ

(A) Cycas

(B) Pinus

(C) Gnetum

(D) ö„þyöì̃ y!Ýþ ˜ëû
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13. Gymnosperms originated during era.

(A) Paleozoic

(B) Cenozoic

(C) Proterozoic

(D) Mesozoic

13Ð Gymnospermséôé~îû xy!î¦Åþyî ‡öìÝþ ö„þy˜ ë%öì†Ú

(A) þ™Äy!œç‹!ëû„þ

(B) !¢öì˜y‹!ëû„þ

(C) ö²ÌyöìÝþöìîûy‹!ëû„þ

(D) ö›öì¢y‹!ëû„þ

14. Coal is a type of

(A) fossil fuel

(B) mineral

(C) rock

(D) none of the above

14Ð „þëûœy ~„þ!Ýþ

(A) ‹#îyÙÂ ‹µyœy˜#

(B) …!˜‹

(C) !Ÿœy

(D) ö„þyöì̃ y!Ýþ ˜ëû
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15. Endosperm formation in gymnosperms takes place —

(A) at the time of fertilization

(B) before fertilization

(C) after fertilization

(D) along-with the development of embryo

15Ð Gymnospermséôé~îû endosperm †!àþ“þ £ëû éôôôé

(A) !˜öì¡ìöì„þîû ¢›ëû

(B) !˜öì¡ìöì„þîû þ™)öìîÅ

(C) !˜öì¡ìöì„þîû þ™îû

(D) ¼*’ †àþöì̃ îû ¢›ëû

16. Which one is a non-vascular embryophyte?

(A) Thallophyte

(B) Bryophyte

(C) Pteridophyte

(D) Gymnosperm

16Ð ˜#öì‰þîû ö„þy ä̃!Ýþ x¢‚îy£# ¼*’ë%_« vþz!q”Ú

(A) Thallophyte

(B) Bryophyte

(C) Pteridophyte

(D) Gymnosperm
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BOTANY (General)
Paper Code : BOTG - II - B
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Full Marks : 34 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Group - A

1. Answer any one question from the following : 9×1=9

(i) Discuss the origin of bryophytes. Why are bryophytes known as
amphibians of plant kingdom? 8+1

(ii) What is alternation of generation? Describe the life cycle of Lycopodium
indicating sporophytic and gametophytic generations. 3+6

2. Answer any two questions from the following : 4×2=8

(i) Describe the strobilus of Selaginella.

(ii) Describe the female gametophyte of Marchantia.

(iii) Describe the characteristic features of Funaria.

(iv) Write a short note on the stellar anatomy of Lycopodium.

Group - B

3. Answer any one question from the following : 9×1=9

(i) Define fossils. Discuss the different types of fossilization process. 2+7

(ii) Discuss the economic importance of gymnosperms. 9
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4. Write short notes on any two of the following : 4×2=8

(i) Xerophytic adaptation of Cycas leaflet

(ii) Female cone of Pinus

(iii) Characteristic flora of different periods of mesozoic era

(iv) Types of fossils.

îDy %̃îy”

!î¦þy† éôé „þ

1. !˜Á¬!œ!…“þ öë ö„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 9×1=9

(i) Bryophyteôé~îû vþzêþ™!_ îÄy…Äy „þöìîûyÐ Bryophyteôéö„þ vþz¦þ‰þîû vþz!q” ö†yÛþ# ö„þ˜ îœy
£ëû Ú 8+1

(ii) ‹ %̃e«› !„þÚ Lycopodiumôé~îû !œD•îû ~î‚ öîû’%•îû ”Ÿy¢£ ‹#î˜‰þe« îÄy…Äy „þöìîûyÐ
3+6

2. !˜Á¬!œ!…“þ öë ö„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­é 4×2=8

(i) Selaginellaôé~îû strobilus ¢Á™öì„Åþ öœöì…yÐ

(ii) Marchantiaôé~îû !œD•îû vþz!q”öì”£ ¢Á™öì„Åþ Ýþ#„þy öœöì…yÐ

(iii) Funariaôé~îû ¢y•yîû’ ÷î!ŸÜTÄ=!œ î’Å̃ y „þöìîûyÐ

(iv) Ýþ#„þy öœöì…y ­ Lycopodiumôé~îû !ÞÝþ!œîû xhsþ†Åàþ˜Ð

!î¦þy† éôé …

3. !˜Á¬!œ!…“þ öë ö„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 9×1=9

(i) ‹#îyÙÂ !„þÚ !î!¦þ§¬ ²Ì„þyîû ‹#îyÙÂ ²Ì!e«ëûy î’Å̃ y „þöìîûyÐ 2+7

(ii) îÄ_«î#‹# vþz!q”éôé~îû xíÅ÷ì̃ !“þ„þ =îû&c öœöì…yÐ 9
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4. !˜Á¬!œ!…“þ öë ö„þyöì̃ y ”%!Ýþ !î¡ìöìëûîû vþzþ™îû Ýþ#„þy öœöì…y ­é 4×2=8

(i) Cycas-~îû vþzþ™þ™öìeîû ‹yDœ•›#Å x!¦þöìëy‹˜

(ii) Pinus- ~îû ßþf# þ™eöìîû’%›Oîû#

(iii) ö›öì¢y‹!ëû„þ ¢›ëû„þyöìœîû !î!¦þ§¬ þ™ëÅyöìëûîû vþz!q” ¢›)öì£îû ÷î!ŸÜTÄ

(iv) ‹#îyöìÙÂîû ²Ì„þyîû


